e

mJ
ol

2018

K22 EHolglH MEAE It

E
ol
30
R0
I
l



(EA AM3Z]

of AF = =
L O -1
20185HAIE FI28] Olsfarel HOISIH MEUMIE F7t ZF OB CheTt 2
ol ZhEEict
AILZE Z "I AIE 212t 2,783,002 "MIRLAIE" 212t 2,549,000810=
=)

e




(2R M42]

ol

2018

]

tH e Mi2e] ®PISIAl =71 8 ol

Al ol Ml 2

wor | 71 B[ H & oreron | 71 @ | HI

aow | N e | Az | omow | MO oer |

@ | @) | (a-B) A | gy |@a-B)

1 omskeell 2,203 2,142 61] 1. 0lktakl of 210 2210
2. At@iSel 2. M 2 Hl
Mo
3. EXI5L) e

EN= _
4'3} . 4. & 2| 1,023 1,100 ATT
T =]

5.00 9 2 19 10 of 5. % xt b
6.7 = I
Ao 300 600 4300|6 K
7R a EE
8. &+ 9 o1l 31  ads sdz

o mAE| 144 129 15

10, of H] H] 38 of 38

Metetal | 2549 2.783| a234| MizetA | 2549 2,783 4234




2018stE % HI23] BHOIS|H ML -H= = 2E A A M
1. Al
CERED
il whoe | 2= | 2F & & 7 = (8) b 2
| &t =2 Oy £H =z
1 &+ Y 2203| 2142| 61
1. 212 a2 2,203 2,142 61
2. 20K~ 453 422 31 |1 HIIE2 WZ0IK 22 F
° 15,7053 x2&8= 31,410
3. JIEt &gl 100 70 30 [1. HolN #a3(zoe) B
° 30,000& x18|= 30,000
50083 19 10 9
1.0 & 3 19 10 9
1.0 &8 = 19 10 911.20178EHE 0|22 SAH 9,000
6728 %32 300 600 | -300
1.2 X3 300 600 =300
1.0l 8 2 300 600 =300 |1. OIAtE D23 2 -300,000
8 &+ 2 27 31 4
2. & = ¢ 26 30 -4
g ” " M EEECRET 000
Y 2549 | 2783 | -234




2. NI&
(EHol: A S)
A wus | 23] dEiE g = (5 b 2
2| & = O £+HY =
1. 01 AF 31 b 0 210| -z10
1. OlAFSIHI 0 210 -210
1. 93 0 210 =210 AJA G 2N -210,000
4LHEZ 1,023 | 1100 -77
1.8 &= 1,023 1,100 77
1. s EE2 1,023 1,100 =77 (WIPSEESPSE—= s del -77,000
5 &I = 144 129 15
1. & X & 144 129 15
1. JIEtMXI & 144 129 15 1. St2AEESDNEOISE2 S FHISH 15,000
10. 01 &1 & 38 o| 38
1. Gl 8l 8l 38 0 38
1. 0l 5l dl 38 0 38 [1. dlbldl 38,000
EEY 2549 | 2783 | -234




